| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

syoer™

Lo o
ie — Pz
e : A
S SEC U SUUUR FOUUURRUE N S O Ldow
o v
1M . ™ x
Q
JoT M : IS
— © 5 e o =
s |3 1 =1
I 75 > .
2
o 5 — o
o s .
1 3
2 . o
A4S = I A A Il A o
| 2 :
[t} s H
R 8 : S
o 3 : )
SN z :
] 8 o
I a L Il
g k L
c 5 H 5
soe areaydnp M | syoen areoydnp diey
0 _ o
N o =
E £
s & 5
q ~N =
3 < ISR
q 8 T ~
3 — 2 3
¥ Jog <]
E = 8 o =
P = —
- -{o
A k
Rwrwwuy: o o
; B
3 o =
E 15 !
3 o
¥ 1 <
3 IS )
E |
Lo o
3
o ar
> &
L (=) =)
n o
5 °E
QS <
z 33
LD
l.“ ~ <
[=)
oC M S
— N o &
s |8 =1
[t} g
£
(=) 8 =}
0 g
n o
=} ° =
7L _
s g
— = o
| 3 Id
S !
! =
= [Te] @ (=3
§ LIt 7
— 5
Ey : )
o 2 |
S
L O
< <
[© T
@ o 0 o
N = —
K 3 5 E
[ <R G2
i > N
o
X X kel
. ) ~
£ lw X
[5]
=] S
9 -8 o5
o
o o
P
o
s B =
T o !
o
9 <
| 8 I
o 5 )
" 8
Lo 9| o
B3 N 5 o) £
) ) i
Z — (=}

syoen



	Contents
	Page 1


